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Math 0702 Review Problems - Final Exam

x=-3
y =210
Identity; S ={All real numbers}

y=1

Contradiction; No solution
Contradiction; No solution
X=2
1

X=3

S:(loo)
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Answers
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X =-11, x, =27

No solution
1
X=3

X1:3, X2:7

D={0,1,2}, R={-2123}
Not a function

D= {—4,—2,0,2} , R= {O,l2,3}
Function

D:{—L4,5,7} , R :{2,3}
Function

D = {Input elements},

R = {Output elements}
Function

D= (—oo,oo) , R= [—3,00)
Function

Dz(—oo,oo) , R= {2}
Function

D:[l,oo) , R= (—oo,oo)
Not a function



16. (-2,7)

g =-2
x=0
X=-2, 2
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17. a. x-intercept=5

y-intercept = —
y

Nja

b. x-intercept=3
y-intercept = 2

c. x-intercept=3
y-intercept = —1
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19.
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24,
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e.
y
y=3x
-4-3 -2 1234586 %
a.
b.
c.
d.
a. y=2x-3
b. f(x)=-3x+5
c. f()=-1x-2
d y=3x-7

a. perpendicular
b. neither parallel nor perpendicular

y=2x+5
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30.
31.

32.
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34.

35.

a. System is consistent.
Equations are independent.

No solution.
System is inconsistent.
Equations are independent.

c. Y

Infinitely many solutions.
System is consistent.
Equations are dependent.

a. LnL ={2-3)}
b. L =L,: There are infinitely many solutions.
c. LNk, ={353

d. LNL,=9: Thereis no solution (L, || L,).

a. 281 of 80% alcohol solution

42| of 30% alcohol solution

Trains meet 945 miles from the station
Speed of plane in still air was 120 km/hr.
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47.
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49.
50.

51.

52.

53.
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56.

57.
58.
59.
60.

61.
62.

63.
64.
65.
66.

67.
68.

69.

70.
71.
72.

7x2—-10x -7
—3x%2+15x—15
—2x’ +3x8+3x5>+11

—6a’ —15a* +21a°
1 .10

12x2 +x —35

49x% —42x +9

2_ 1
X"~ 35

2x3 —11x%? —25x + 28
x* —2401

a. 2n°—-9n+10
b. 4ah+2h?—h

6(y —3)
4x2%y?(y —3x)
(x=7)(x—5)
(x+4)(x—9)

2p®(p +3)(p2—3p +9)
(5a—2)(2a—3)

(2x —7)?

(x+5)(x=5)

(2x +5)(4x —3)
(x®+9)(x +3)(x —3)
—4(x+4)(x—4)
—2(3a+Dh(3a-1
(n+p)(m-7)

5x(x +5)(x —3)

v+ g5y 1)

prime

(X= ) +xy+y?%)

(r2 +3)(r* —r?t® +t%)
X, =0, X, =
,=0, z,=

yi=—2,Y,
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88.

N=—2, % =3

b,=-3,b,=0, by, =6
a=—4,a,=—%
X=—4, X==-1 x3=1

a. h(2) =1024 feet
b. h(t)=0 when t=10 sec.

c. f(—2) isundefined

a. Dg =(—00,—3)U(—3,00)
b. Dy = (~00,-3)U(~3,8)U(8,0)

_Zst"'
3r®
_x X (either one)
X—3 3—X

a’ —ab+b?

2,2
Smx7y® _ 3mx?y? (either one)

ax3y?
ab
—3a
2(x—3)
r
r—-6
(a+6)(a+3)
3(a—4)

(4y* —6y+9)
(4y-1(2y-3)

3x?



